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[2fM, Ol & S0 stress HIM 2| ot E&F 031 = Epqpién

_ v3 3
021 = L 2l Ex1ki€r

021 = Ep111811 T Ez112812 T Epq13813 Y Epq121821 + Epq22822 + Epqp3823 +
Ep131831 + Ep132632 + Epq23833
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[h2tA], Ol & = stress HIA 2| matrix & EH 0| A1 2] diagonal symmetry?
021 = Ez1ki€k1 = 012 = Eq2p1€

Eijri = Ejixa

OrXE7EK| 2, strain HIA 2| diagonal symmetry?

Eijri = Eji
== 2&F 125}

Eijri = Ejikr = Eijik = Ejug
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,ole =0 A 2=0f T X A Of| A S =10}
=l CH0 OCE O| W X =7t B A= SfCHH, di g

Ehd A2l I 2 Bd BEEIO| A (elastic compliance) E™1 = C

€11 Gy Ci37[01 €1
Cy1 €y Cyslfoz| =&
C31 G5, Cs3l1l03 €3

With o, # 0,whileg; = o3 = 0,what’s £;? And €,? And £3? What’s going to be the
Poisson ratio?
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Ci1 Gz Cy370n €1
Co1 Gy Cazff02] = |22
C31 Gz (331103 €3
With o, # 0, whileg; = o3 = 0,what’s &7 And &,? And £37 What’s going to be the
Poisson ratio?




